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1. Most of biological diversity has probably arisen by 

a. anagenesis


c.  hybridization

b. cladogenesis


d.  artificial selection
2. Bird guides once listed the myrtle warbler and Audubon’s warbler as distinct species, but applying the biological species concept, recent books show them as eastern and western forms of a single species, the yellow-rumped warbler.  Experts must have found that the two kinds of warblers

a. live in the same areas

b. successfully interbreed in nature

c. look enough alike to be considered one species

d. are reproductively isolated from each other
3. Among allopatric species of Anopheles mosquito, some live in brackish H2O, some in running fresh water, and others in stagnant water.  What type of barrier is most obviously separating these different species?

a. habitat isolation


c.  gametic isolation

b. temporal isolation

d.  behavioral barriers
4. A mode of speciation characterized by new species forming within a range of parent populations.

a. A plant that results from a single species that doubles its chromosome number to the 4n state.

b. Reproductive isolation evolves without geographical isolation (as in plants).

c. The initial block to gene flow is a geographic barrier physically isolating a population.

d. A polyploid hybrid resulting from contributions of two different species where sterile hybrids can propagate asexually, as in plants.

5. Which is not an example of a prezygotic reproductive barrier?

a. Habitat isolation


c.  Mechanical isolation
b. Temporal isolation

d.  Hybrid sterility
6. Two animals are considered of different species if they
a. look different.


c.  are members of different populations.
b. cannot interbreed.

d.  are geographically isolated.
7. Which of the following situations is not an example of a prezygotic reproductive barrier?

a. A mule results from mating a horse & donkey; the mule cannot mate with either a horse or donkey.

b. Two species of garter snakes live in the same area, one lives in trees, one lives near water

c. Brown trout breed in the fall and rainbow trout breed in the spring.
d. Moths of one species attract mates with pheromones unrecognizable to other moth species.

8. What is adaptive radiation?

a. Branching evolution from ancestral species.

b. Numerous species emerge from a common ancestor in environments providing new niches.

c. A type of evolution.
d. All of the above.

9. Most of the time, species are identified by their appearance. Why?
a. If two organisms look alike, they must be the same species.
b. This is the criterion used to define a biological species.
c. If two organisms look different, they must always be different species.
d. This is the most convenient way of identifying species.
10. Individuals of different species living in the same area may be prevented from interbreeding by responding to different mating dances. This is called
a. habitat isolation.

c.  behavioral isolation.
b. hybrid breakdown.

d.  temporal isolation.
11. Two species of water lilies in the same pond do not interbreed because one blooms at night and the other during the day. The reproductive barrier between them is an example of
a. temporal isolation.

c.  hybrid breakdown.

b. gametic isolation.

d.  ecological isolation.
12. Biologists have found more than 500 species of fruit flies on the various Hawaiian Islands, all apparently descended from a single ancestor species. This example illustrates
a. polyploidy.


c.  adaptive radiation.
b. temporal isolation.

d.  meiotic failure.
13. Which of the following is an example of a postzygotic reproductive barrier?
a. One Ceanothus shrub lives on acid soil, another on basic soil.
b. Mallard and pintail ducks mate at different times of year.
c. Two species of leopard frogs have different mating calls.
d. Hybrid offspring of two species of jimsonweeds always die before reproducing.
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